
Классная работа
Тема урока:
Степень с 

натуральным 
показателем



Проверка домашнего задания

а а³ а а³
1 1 8 512

2 8 9 729

3 27 10 1000

4 64 11 1331

5 125 12 1728

6 216 13 2197

7 343 14 2744



20∙36+20 ∙ 64 = 
12 ∙ 14 + 14 ∙ 88=
16 ∙ 5+16 = 
11∙74 +11∙26+6∙17+6∙83 = 
99∙3+85∙9+3+15∙9 =



ВЫЧИСЛИ
2=
3=
1²=
7³=
10=

4=
3=
1=
6³=
20²=



ПРОВЕРЬ СЕБЯ

2= 32
3= 81
1²= 1
7³= 343
10= 10000

4= 256
3= 243
1= 1
6³= 216
20²= 400



ПРОВЕРЬ СЕБЯ

1-2 ОШИБКА  - «4»
3-4 ОШИБКИ – «3»
5 И > ОШИБОК – «2»



РАБОТА ПО УЧЕБНИКУ

ДОМАШНЕЕ ЗАДАНИЕ


